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§1. 1 SEOEERT AL INIZES

1. % cd = R—LT A ININEE)
2. % mkdir chap23 = T4LVMN)chap23%1ERk
3. % cd chap23 = T4LMN)chap23~T&El

4. % netscapeZ{#-oTdata23%chap23~¥AO—K

5. ¢ tar xvf data23 = HUTILT—ENEE

karzanov.c
karzanov.in




§1. 2 JKifiE

/—RERMBREMBASNAUTOERT FT1ZHEWT, [131hlaNFid e |
DTEERKNAEZRDD

1 2 3 4
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5 6 7 8
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5/10 2/32 15/15 2/12
9 10 11 12
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11/32 2/17 8/16 7/10
13 14 15 16 HhigE /58
13/30 15/20 7/30
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§1. 6 Karzanovik

(DIBRANRATIERET S &/—FTEFRAR-FHEEEZLEHOVFATIE
LTHL EREIZ2THRLTWA. RBL1MS(2)ETS.

(2)BDE /—K~, BLTWARERBEIEFE->TIRICFTREAZBRYFRA S, fafil/-XR
[ZEAL . /—FBISRATERARZIRIET D RARZRATOOVENSRLTR
ALDoVFIZINAS. ()RR BETRVIET.

(BRI ST, ovEMNOTHLY/—FKREESURYIDBLLIIZDOLT, &/—KD
OVEN 0L BISTRARERATALET. HLEL-ERMIZECA. BELi-&
ZEHRATDOVEIZIZHRALISRES. FRIDRLI -1 BRATHTNE, Ni-1
M(2)ZE#)RT.

(DOLi-1ABRTHNE, RABBIIFESN TS BRXI7O—DMEHBXRE
[ZA&HhS N TLVS.

§N. 7 T—REEDRTE

ANT—EDHEE
BA/—FEE KA/ NES
BT —%(rroM TO BFE FEIOLY ...

» FIEEIZIZOLL LD EKEFFLS.

> /—FESILEHL TLVGESCTELLN

RET—42 B ERXET—4, /—FT7—43, BT—%)

» RRT—281EE, ADRMT—2%KMT SplistDithlc, BERINT—Y
blistlIHITAXRMEDREIZFAD.

struct path {
int from; /* RREIDIER */
int to; /* RFEDER */
int flow; /* RFERE */
int cap; /* BREIRE */
int closed; /* #H] x/

struct path *1llink;/* plist®blayerMBERZIEII Y */
struct path *rlink;/* YRMIZERSULY x/




§1. 7 T—HEEDREHTE)

» BET—HlayerldblistiZ®H b (WARIRR)
» BflalistiZBAND/—FIE, BBRINT—VHEEREE 1ayerADnodel
BN d R—)ARNIEITS/—FHEIOREIZT1inkZERT 5.
» layerlZBAN-E/—FDpathlld, BEBRINT—IIHEITEH/—F~DFR
AXFEEA 1D,
struct node {
int id;
int ovf;

struct path
struct node

};

struct layer ({
int id;

struct node
struct layer
struct layer

/* /J—FBE */
/*x TABBS */

/* BEBE x/

*node; /* BL/—F */
*1link;/* start_id AW */
*rlink;/* goal id~EMNINY */

*path; /* MAURRERSULY x/
*link; /* BE—JRRERYLY +/

§1. 8 T—HEEDREHRE)
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§1 9 WHELGRHMZEIES

/* BREANDORE/—F BB LR AN ERAAL */
readfile(int *idl, int *id2, struct path **p, struct node **n)

int £, t, £f1, ¢;
struct path *w;

if (scanf("%d %d", idl, id2) !'= 2) {
fprintf (stderr, "readfile: start & goal node is required first\n");
exit(1l);

while iscanf("%d %d %d %d", &f, &t, &fl, &c) == 4) {
W = *p;
if (! (*p = (struct path *)malloc(sizeof (struct path)))) {
fprintf (stderr, "readfile: not enough memory\n");

exit(1l);
(*p)->from = f£; (*p) ->to = t;
(*p)->flow = fl; (*p)->cap = c;
(*p) ->closed = 0; (*p)->1link = NULL;

(*p) ->rlink
addnode (n, £f);
addnode(n, t);
}
}

w;

§1. 9 MBIFREHZEIEH(HES)

/* BRZBMTS */
addpath (struct node *n, int id, int from, int flow, int cap, struct path *p)

struct path **v, *w;

for (v=NULL; n; n=n->link) {
if (n->id == id) { /* already registered */
v = &n->path;
break;

}

}

if (!'v) /* not found */
return;

w = *v;

if (! (*v = (struct path *)malloc(sizeof (struct path)))) {
fprintf (stderr, "addpath: not enough memory\n");

exit(1l);
(*v)->from = from; (*v)->to = id;
(*v)->flow = flow; (*v)->cap = cap;
(*v)->closed = 0; (*v)->1link = NULL;
(*v)->rlink = w;

p->1llink = *v;




§1. 9 MBIFREHZEIEH(HES)

/* /—FBEB=idZHL ,/—FHRROMLITNEEMT S */
addnode (struct node **n, int id)

struct node *w;

for (w=*n; w; w=w->link) {
if (w->id == id) /* already registered */
return;
}

W = *n;
if (!'(*n = (struct node *)malloc(sizeof (struct node)))) {
fprintf (stderr, "addnode: not enough memory\n");

exit(1l);
(*n)->id = id;
(*n)->ovEf = 0;
(*n) ->path = NULL;
(*n)->link = w;

§1. 9 MBIFREHZEIEH(HES)

/* /—FBEB=1dZFLBEHTS */
/* id=-1DFHIJZADLIDOEBENITSH */
movenode (struct node **m, struct node **n, int id)

struct node *v, *w;

for (v=NULL, w=*m; w; v=w, w=w->link) {

if (id == -1 || w->id == id) {
if (v==NULL)
*m = w->link;
else

v->link = w->link;
w->link = *n;
*n = w;
} return; /* found */
}
} /* not found */




§1. 9 MBIFREHZEIEH(HES)

/* BEB=1dZ8L BAROMSLITIITEMT S */
addlayer (struct layer **1, int id)
{

struct layer *w;

for (w=*1; w; w=w->1llink) {
if (w->id == id) /* already registered */
return;

w = *1;
if (! (*1 = (struct layer *)malloc(sizeof (struct layer)))) {
fprintf (stderr, "addlayer: not enough memory\n") ;

exit(1l);
if (w) w->rlink = *1;
(*1)->id = id;
(*1) ->node = NULL;
(*1)->1link = w;
(*1) ->rlink = NULL;

§1. 9 MBIFREHZEIEH(HES)

/* /—FBEB=idZHL , ovelldit£EMATHRERY */

/* J—ERRoMSIIThIE-1ERT
getovf (struct node *n, int id, int diff)

for (; n; n=n->link) {
if (n->id == id) {
n->ovf += diff;
return (n->ovf); /* found */

}

return (-1); /* not found */

}

/* BRAFDRABERTT D */
printpath (struct path *p, int flag)
{

for (; p; p=p->rlink)
printf (" (%d->%d %d %d %c) ",
p->from, p->to, p->flow, p->cap, p->closed?’'X':'0');
if (flag)
printf ("\n");




§1. 9 MBIFREHZEIEH(HES)

/* J—FYRFNDRBERTTSD */
printnode (struct node *n, int flag)

for (; n; n=n->link) {
printf (" [%d %d", n->id, n->ovf);
printpath (n->path, 0);
printf£("]");

if (flag)
printf ("\n");
}

/* BIAFDABERTISD */
printlayer (struct layer *1, int flag)

for (; 1; 1=1->1link) {
printf (" (%d", 1l->id);
printnode (1->node, 0);
printf£(")");

}
if (flag)
printf ("\n");

§1. 10 7055 .L(Karzanov. c)

#include <stdio.h>

#define MAXINT (~(1<<(sizeof (int)*8-1)))

BREXEOER

#define min(a,b) ((a<b)?(a): (b)) KWNEWAZEERTLHTIO

main ()

struct path *plist
struct node *alist
struct layer *blist
struct path *p;
struct node *n;
struct layer *1;
int start_id, goal_id;
int layer id, diff, flag;

NULL; /* RXRNA
NULL; /* /—FURk %/
NULL; /* BRBRINTI—9 */

*/

readfile(&start_id, &goal id, &plist, &alist);

printf ("plist:"); printpath(plist, 1);

ANRMT—4DFRT

printf ("==layer start==\n"); ZERVNI—IEEMOT—FEEERT

/* alistBEUblistDFRT */




§1. 10 7055 .L(Rarzanov. cfiE)

/* BRRINI—IDER +/
layer_id = 0;

addlayer (&blist, layer_ id++); ERFUFI—VIZROEER
movenode (&alist, &blist->node, start_id); MR ERBO~BE}TS.
while (n = blist->node) { [BLIZERT 5/ FIZELTLUTERYET.
if (getovE(n, geal_id, 0) != -1) { /* completed */ #AICEELI=DTHET
while (blist->node)
movenode (&blist->node, &alist, -1); Bi#EM M—BE/—FEBLML,
movenode (&alist, §blist->node, goal id); HRDAZEHTD.
break; ERBTINI—IDEREET.
else {

addlayer (sblist, layer_ id++); REL+1ZEBMT S
for (; n; n=n->link) { HREBLZETS/—FrniDFREENZEIEZHE~S.
for (p=plist; p; p=p->rlink) { ANEET—4%IRIZER~,
if (p->from == n->id && p->flow < p->cap) { NiNj[ZDPVWTHEAE<BEETHNERBL+1IZEH
movenode (&alist, &blist->node, p->to);
addpath (blist->node, p->to, p->from, 0, p->cap-p->flow, p);

else if (p->to == n->id && p->flow > 0) { NN DD TRRE>0TCHNIEBL+ 1B/
movenode (&alist, &blist->node, p->from);
addpath (blist->node, p->from, p->to, 0, p->flow, p);

}
.
printf ("==layer$d==\n", blist->id); [BL+1OBESEEFL, ARELF—+

/* alistB&UblistDFEFR */

}

if (!blist->node) { BBEEBIZ/—FM1DLLITAE, EBRVNI—IEBETELM o COBE, BARERRALTOIOTET.
printf ("==full==\n") ;
exit(0);

}

printf ("==karzanov start==\n"); RarzanovikBAMOT —4BEEET
/* alistBEUblistDRT +/

§1. 10 7055 .L(Rarzanov. cfiE)

/* KarzanoviklC&UBKFTERDHD +/

for (l=blist; 1 && 1->llink; l=1->1link); MAEET
1->node->ovf = MAXINT; LA ERASED.
for (l=l->rlink; 1 && 1->1link; 1=1->1link) {
/* Fe x/
for (; 1; 1=1->rlink) { .(2)XBLUBOZE/—F~, ALWTOIEEZ#E>TIRIZAERZRYRAEES.
for (n=l->node; n; n=n->link) { L(2)&/—FEIZEAS.

/* FRHTTEES £IRFR +/
for (p=n->path; p; p=p->rlink) { ..(2)FAAEMZIEZHE~S EMAEAVTEY, dice(oETRATETHNIE,
if (!p->closed && (diff = min(getovf (l->llink->node,p->from,0) , p->cap-p->flow)) > 0) {

getovE (1->1link->node, p->from, -diff); L(2)FRATDovEhbdissERLS.
n->ovf  += diff; L(2)RAEDOVEIZALEEE R D
p->flow += diff; LREMREEEH TS
if (p->flow == p->cap) p->closed = 1; L(2)BE—HTHNEEEERCS.
) }
}

}
/* RAEB/ —FBER */
for (flag=0,1=blist->1link; 1 && 1->1link; 1=1->1link) { ..(3)BEEH,LHY, BUORAEBBMELTEAS ZRLET.
for (n=l->node; n; n=n->link) { L(3)E/—FEIZERAS.
[ RAEBAELTR +/
for (p=n->path; p; p=p->rlink) { ..(B)FAAEMZIEZEAS HRAHEBTHY, dirsGOETHLELAETHNIE,
if ((diff = min(n->ovf,p->flow)) > 0) {

getovE (1->1link->node, p->from, diff); L(B)FRATDoVEIZdif R R D
n->ovf -= diff; L(B)RAEDoVEIDALIEEERLS.
p->flow -= diff; L(BEMREEEFH T
p->closed = 1; _(B)EMZEMHLS.
flag =1; L(BREORIZEVTHLELET>-ME {115
!
}

if (flag) break; ..(B)REDEBIEVTHLELET-IES, (2)HSEHMTS
}

printf ("==layertd==\n", 1l->id); REDEESLEFTD
/* alistB&UblistDFEFR */
} L(AREOEMBATHRE, RARBERESHTHD EX70—0ORNEEBIZHE#HEH TS




§MN 10 JAJ5.L(Karzanov. cfii )

/* EREENTE «/ FZEBOOVEHIBATIO—ZFFEFELTLS.
printf ("==difference:%d==\n", blist->node->ovf);

for (p=plist; p; p=p->rlink) { ADREMET—4MSZEHRINT—IDREHZWLY,

if ('p->1link) diff = 0;
else if (p->from == p->llink->from) diff = p->llink->flow;
else diff = -p->llink->flow;

if (diff) EREMSHNIERTTS.
printf (" (%d->%d %d)",p->from,p->to,diff) ;

}
printf ("\n");

/* TORMREZBELTHATS */
printf ("==total flow==\n");
printf ("$d %d\n", start_id, goal_id);

for (p=plist; p; p=p->rlink) { ADREMET—4MSZEHRINT—IDREHZWLY,

if ('p->1link) diff = 0;
else if (p->from == p->llink->from) diff = p->llink->flow;
else diff = -p->llink->flow;

printf("$d %d %d $d\n",p->from,p->to,p->flow+diff,p->cap) ;
} RBREORMT—42Z2HAT S ChERVWTERETOT SLERTTHENTES.

exit(0);

§1. 11 /A JLERTT

1. aANAILT .

% gcc karzanov.c -o karzanov

2. IPAILOFEE

% cat karzanov.in

13 4
1210 10
2 36 12

12 8 2 12
16 12 7 10

3. T7AILHBANAL, HRERTTS.

% ./karzanov < karzanov.in | less




§M. 1 I/ (JLERTERE)

plist: (16->12 7 10 0) (12->8 2 12 0) (8->4 13 33 0) (15->11 8 16 0) (11->7 15 15 0) (7->3 5 24 0) (10->14 2 17

0) (10->6 2 32 0) (2->6 4 § 0) (13->9 11 32 0) (9->5 5 10 0) (5->1 10 30 O) (15->16 7 30 0) (14->15 15 20 0) (13->14 13
30 0) (12->11 5 40 0) (10->11 2 8 0) (9->10 6 12 0) (7->8 11 50 0} (6->7 1 1 0) (6->5 5 34 0} (3->4 11 31 0) (2->3 6 12
0) (1->2 10 10 0)

==layer start==

alist:[16 0][15 0]([14 0]([13 0]([12 0]([11 O]([10 O]([9 O]([8 O]([7 O]([5S O][6 O][4 O][3 0]([2 0]([1 O]

blist:

==layerl==

alist:[16 0][15 0]([12 0]([11 O]([10 O]([8 O]([7 O]([5S O][6 O][4 0][3 0]([2 O]([1 O]

blist: (1[14 0(13->14 0 17 0)][9 0(13->9 0 21 0)]) (0[13 0])

==layer2==

alist:[16 0]([12 0]([11 O]([8 O]([7 O]([6 O][4 O]([3 0][2 O]([1 O]

blist: (2[5 0(9->5 0 5 0)][15 0(14->15 0 5 0)][10 0(9->10 0 6 O) (14->10 0 2 0)]) (1[14 0(13->14 0 17 O)][9
0(13->9 0 21 0)])(0[13 0])

==layer3==

alist:[12 0]([8 0]([7 0][4 0]([3 0][2 O]

blist: (3[16 0(15->16 0 23 0)][11 0{(10->11 0 6 O) {(15->11 0 8 0)][6 O(10->6 O 30 O)(5->6 0 5 0)][1 O(5->1 0 20
0)]) (2[5 0(9->5 0 5 0)][15 0(14->15 0 5 0)][10 0(9->10 0 6 O) (14->10 0 2 0)]) (1[14 0(13->14 0 17 0O)][9 0(13->9
0 21 o0)])(0[13 0])

==layerd==

alist:[8 0]([7 0][4 0]([3 0]

blist:(4[2 0(6->2 0 4 0)][12 O0(11->12 0 5 O) (16->12 0 3 0)]) (3[16 O(15->16 O 23 0)][11 0{(10->11 0 6 O) {15->11 O
8 0)][6 0(10->6 0 30 O) (5->6 0 5 O)][1 O(5->1 O 20 O)]) (2[5 0(9->5 0 5 O)][15 O(14->15 0 5 O)][10 O(9->10 0 &
0) {(14->10 0 2 0)]) (1[14 0{(13->14 0 17 0)][9 0(13->9 0 21 0)]) (0[13 0])

==layer5==

alist:[7 0][4 0]

blist: (5[8 0(12->8 0 10 0)][3 0{(2->3 0 6 0)]) (4[2 O0(6->2 0 4 0)][12 O(11->12 0 5 O) {(16->12 0 3 0)]) (3[16
0(15-»>16 0 23 0)][11 0(10->11 O 6 O) (15->11 O 8 O)][6 O(10->6 O 30 O) (5->6 0 5 O)][1 O(5->1 O 20 O)]) (2[5
0(9-»5 0 5 0)][15 0(14->15 0 5 O)][10 0(9->10 0 6 O) (14->10 0 2 O)]) (1[14 O(13->14 0 17 O)][9 0(13->9 0 21
0)1) (0[13 0])

==layer6==

alist:

blist: (6[7 0(3->7 0 5 0)(8->7 0 11 0)][4 0(3->4 0 20 0)(8->4 0 20 0)])(5[8 0(12->8 0 10 O)][3 0{(2->3 0 6
0)]){4[2 O(6->2 0 4 0)][12 O(11->12 0 5 O) (16->12 0 3 0)])(3[16 O(15->16 O 23 0)][11 O(10->11 0 6 O) (15->11 0 8
0)][6 0{10->6 0 30 0)(5->6 0 5 0)][1 O(5->1 0 20 0)]) (2[5 0(9->5 0 5 0)][15 0(14->15 0 5 0)][10 0(9->10 0 6
0) {(14->10 0 2 0)]) (1[14 0{(13->14 0 17 0)][9 0(13->9 0 21 0)]) (0[13 0])

§M. 1 I/ (JLERTERE)

==karzanov start==

alist:[7 0(3->7 0 5 0) (8->7 0 11 0)]

blist: (6[4 0(3->4 0 20 0O) (8->4 0 20 0)]) (5[8 0(12->8 0 10 0)][3 0(2->3 0 6 0)])(4[2 0(6->2 0 4 0)][12 O(1l1l->12
0 5 0)(16->12 0 3 0)]) (3[16 0(15->16 O 23 0)][11 O0(10->11 O 6 O) (15->11 O 8 O)][6 O(1l0->6 O 30 O) (5->6 0 5
0)]1[1 0(5->1 0 20 0O)]) (2[5 0(9->5 0 5 0)][15 0(14->15 0 5 0)][10 0(9->10 O 6 O) (14->10 0 2 0)]) (1[14 0(13->14 O
17 0)][9 0(13->9 0 21 0)]1)(0[13 O])

==layer3==

alist:[7 0(3->7 0 5 0) (8->7 0 11 0)]

blist:(6[4 12(3->4 4 20 0)(8->4 8 20 0)])(5[8 0(12->8 8 10 O)][3 0(2->3 4 6 0)]) (4[2 O(6->2 4 4 X)][12 O(1ll->12
55 X)(16-»>12 3 3 X)]) (3[16 0(15->16 3 23 X)][11 0(10->11 5 6 X) (15->11 0 8 O)][6 O(10->6 O 30 X) (5->6 4 5
X)J[1 0(5->1 0 20 0)]) (2[5 1{9->5 5 5 X)][15 2(14->15 5 5 X)]J[10 3(9->10 6 6 X) (14->10 2 2 X)]) (1[14 10(13->14
17 17 X)][9 10(13->9 21 21 X)]) (0[13 2147483609])

==layer3==

alist:[7 0(3->7 0 5 0) (8->7 0 11 0)]

blist:(6[4 12(3->4 4 20 0)(8->4 8 20 0)])(5[8 0(12->8 8 10 O)][3 0(2->3 4 6 0)]) (4[2 O(6->2 4 4 X)][12 O(1ll->12
55 X)(16-»>12 3 3 X)]) (3[16 0(15->16 3 23 X)][11 0(10->11 3 6 X) (15->11 2 8 O)][6 O(10->6 O 30 X) (5->6 4 5
X)J[1 0(5->1 0 20 X)]) (2[5 1(9->5 5 5 X)][15 0(14->15 5 5 X)][10 5(9->10 6 6 X) (14->10 2 2 X)]) (1[14 10{(13->14
17 17 X)][9 10(13->9 21 21 X)]) (0[13 2147483609])

==layer2==

alist:[7 0(3->7 0 5 0) (8->7 0 11 0)]

blist:(6[4 12(3->4 4 20 0)(8->4 8 20 0)])(5[8 0(12->8 8 10 O)][3 0(2->3 4 6 0)]) (4[2 O(6->2 4 4 X)][12 O(1ll->12
55 X)(16-»>12 3 3 X)]) (3[16 0(15->16 3 23 X)][11 0(10->11 3 6 X) (15->11 2 8 O)][6 O(10->6 O 30 X) (5->6 4 5
X)J[1 0(5->1 0 20 X)]) (2[5 0(9->5 4 5 X)][15 0(14->15 5 5 X)]J[10 0(9->10 1 6 X) (14->10 2 2 X)]) (1[14 10{(13->14
17 17 X)]1[9 16(13->9 21 21 X)]) (0[13 2147483609])

==layerl==

alist:[7 0(3->7 0 5 0) (8->7 0 11 0)]

blist:(6[4 12(3->4 4 20 0)(8->4 8 20 0)])(5[8 0(12->8 8 10 O)][3 0(2->3 4 6 0)]) (4[2 O(6->2 4 4 X)][12 O(1ll->12
55 X)(16-»>12 3 3 X)]) (3[16 0(15->16 3 23 X)][11 0(10->11 3 6 X) (15->11 2 8 O)][6 O(10->6 O 30 X) (5->6 4 5
X)J[1 0(5->1 0 20 X)]) (2[5 0(9->5 4 5 X)][15 0(14->15 5 5 X)]J[10 0(9->10 1 6 X) (14->10 2 2 X)]) (1[14 0(13->14 7
17 X)][9 0(13->9 5 21 X)]) (0[13 2147483635])




§M. 1 I/ (JLERTERE)

==difference:12==
(16->12 3) (12->8 8) (8->4 8) (15->11 2) (10->14 -2) (2->6 -4) (13->9 5) (9->5
:;535;312)3)(14->15 5) (13->14 7) (12->11 -5) (10->11 3) (9->10 1) (6->5 -4) (3->4

BXIO—LREBE12THY, TDI-HDRED,
XM 16->12% 3721HEM
XM 12->8%  sfZl+igmm
X 8->4% sfI+ighn
XM 15->11% 2f=1+iEm
XM 10->14% 27f5HEA A
XM 2->6%  afZiHEA A
XM 13->9%  sIEIHiEM
X 9->5% 47121718
XM 15->16% 37+iEM
XM 14->15% sfZHiEmM
XM 13->14% 77=1+iEm
XM 12->11% sfEFED A
XM 10->11% 3721HEM
XM o->10%  17Z+iEM
XM 6->5% af2 D A
XM 3->4% 4fZ1+iEm
XM 2->3% 47121718

§M. 1 I/ (JLERTERE)

==total flow==
13 4

16 12 10 10

12 8 10 12

8 4 21 33

6 51 34
3415 31
2 310 12
121010

RIS, BATO—RBREDEET —2HRRSND.
CDT—REBETOYSLICAAL, BRI T—INBETELRLDETHRY
R TEZLY, HRRERDHEBENTES.

f=1ZL, COBITIERKREREL TS,




g1 12 {lRE

B4R 10, BE20D/\(/NRERIT-. RRFANKREDETH, BB |

TOBXRIO—%ERE.

ENCOES, TROEITTIIERARARELGL

1

10/10

10/30

2

6/12

4/9

3

11/31

5/24

13/33

5

5/34

5/10

6

1/1

2/32

7

11/50

15/15

z2/12

9

6/12
11/32

2/8
2/17

11

5/40
8/16

7/10

13

13/30

14

15/20

15

7/30

16

10/20

§1. 13 SEDEE

TS5 EL THRBBE(EOWindowsDEVANT/MEKRAETHPOTA.

®BYTOT SV EEL, BALINE, MRERLED-HDREEL THFHRK

B

LLZEHFEZ, T0J 5307 BEEEL TEAENMF-RMR TR L RIECFHRIL

1000%F.

5E5%: nakashim@econ.kyoto-u.ac.3jp
H#4: unix2-FHEES







